
EE411 Homework 6 

 

1. For the differentiator shown below,  find the output y(t) if the input is given by  
(a) )()( tutx = , 

(b)  tfjetx 02)( π=  

                        

d/dtx(t) y(t)

H=j2πf

 

2. For the LTI system shown in Fig. 2, the unit impulse response of System A is  )()( tueth t−= . Find 
the system response  )(ty if the input is )(tx shown in Fig. 1.                                                                                       
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                               Fig. 1                                                               Fig. 2 

3. For the ‐900  Phase Shifter shown below, find the output y(t) if the input is given by  

(a) tfjetx 02)( π−=  ,  ( 00 >f ) 

(b) tfjtfj eetx 00 22)( ππ −+= , ( 00 >f ) 
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4. The frequency response of the LPF in Fig. 3 is given by  
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Find the output  )(ty  if the input signal is 

(a) tftftx 00 3cos32cos8)( ππ += ,   where  Hzf 9000 = .       

(b) tnfj
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 ,      where   Hzf 7000 = . 
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                                            Fig. 3 


